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Computer programming
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a=input (‘numberl=");
=input("'number2=");

C=a+b

D=a-b

E=a*b

F=a/b
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clc

clear B

format short g /\
c=input('zele aval="); ¢ .8
b=input('zele dovom="); A / h \\ c

A=input('zaviyeh beyn=");
a=sqrt(c"2+b"2-2*c*b*cos(A*pi/180])

0h a=+/ c=<4b* — 2ch.cosA
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2 -1 /b?
a’ =b® + ¢ — 2bccosa = A=cos™*( —)

clc

clear

format long g
a=input('zaviyh(a)
b=input('zaviyh(b)
c=input('zaviyh(c)=");

A= acos((b"2+c*2-a2)/(2*b*c))*180/pi
B=acos((a®2+c"2-b"2)/(2*a*c))*180/pi
C=acos((a"2+b"2-c"2)/(2%a*b))*180 /pi
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NO. (2.5) (F.S) - b h NOTE
BM1 2.500 135.200
1.99
™, 0713 0 510 137.190
2.219
TP, 0.675 2.932 134.971
1.166
TPy 1.905 1.841 133 805
0.893
TP, 0.715 1.012 134.698
2.385
A 3.100 132.313
telibuw s
Ef(B.S) - SAFS)=xah=h4 - "Bﬁl,
6.508 - 9. 395 =_2 887 =[32.313 — 135200~ _2.887










